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Game Theory – Sales *

Should TWQ Create a Cross-Platform Sales Unit?


TWQ, VVY, and FOZ are the three largest media conglomerates in the U.S.  They have the following assets:

	Asset
	TWQ
	VVY
	FOZ

	Television

Network
	Strong #2,

older demos
	#1, younger

demos
	Weak #3, 

youngest demos

	Television

Stations
	35% of country, ranked #2 overall
	35% of country, ranked # 1 overall
	30% of country, ranked #3 overall

	Cable

Networks
	3 cable

networks,

News, Music,

Comedy
	2 cable

networks,

Sports, Biz News
	1 cable

network,

News

	Cable

Systems
	2nd Largest
	None
	Largest Direct Satellite company

	Radio

Networks
	None
	3 networks, ranked #2
	5 networks, ranked #1

	Radio 

Stations
	None
	30 stations, all in top 25 markets
	100 stations, all in top 50 markets

	Newspapers
	None
	None
	3 in top 3 markets

	Magazines
	12 magazines, strong #1; 3 of top 3.
	4 magazines, ranked #3, none in top 5.
	None

	Interactive
	Big #1, top ISP.
	6 Web properties,#6 in overall traffic
	None

	Outdoor
	None
	#1 Outdoor company
	None

	
	
	
	

	Total Revenue
	$10 billion
	$8 billion
	$6 billion


It is January 1st, and all three companies are considering setting up a cross-platform sales division to bundle all of their assets together and sell packages at a discount to shift share from the other two media conglomerates.

The first company to sell cross-platform deals will get first-mover advantage.  However, the various sales divisions of all of the companies are resisting selling cross-platform packages.  They each argue that they don’t need to discount their medium because they can sell it at full price.  In addition, the stronger divisions don’t want to discount their price to help the weaker divisions—they claim the weaker divisions can’t sell their media adequately without coat-tailing, which the sales heads don’t like.  Furthermore, the heads of the sales divisions say they can’t make their revenue budgets for the year if they have to discount their prices—even a little.  

All three companies are faced with the same dilemma.  Yet top management knows that cross-platform selling is the wave of the future and that they will eventually have to do it to maximize the value of the synergy of their assets (and to rationalize the main reason for their conglomeration).  

You are the Senior VP in charge of strategy for TWQ.  You want to show top management that it makes sense to institute cross-platform selling, and not to wait too long to do it.  Also, you have learned from very reliable sources that VVY and FOZ are seriously considering setting up cross-platform selling units, but they are both under the same pressure from their individual sales units not to do so.  

Three other reasons you want to convince top management to consider setting up a cross-platform selling unit now are: (1) TWQ, as the biggest media conglomerate, has innumerable problems to deal with and if cross-platform selling doesn’t get on top management’s radar screen now, it will get lost in the morass of problems.(2) TWQ has a cumbersome bureaucracy that is slow to move, and if TWQ doesn’t get started soon, it will take too long to implement and, thus, lose first-mover advantage or an immediate second-mover response that would dilute the advantage of whoever moves first. (3) The TWQ sales division heads have a lot of hubris and are highly competitive, especially with VVY, and will never follow VVY if VVY moves first to set up a cross-platform selling unit.  

VVY is proud, too, and is highly competitive with FOZ, as much because of the personal animosity between the CEOs of the two companies, as anything else, and VVY is highly unlikely to follow FOZ’s lead, but might follow TWQ’s lead.  All of these tendencies are well known to all three companies.  

To help yourself understand all of the possible alternatives that TWQ has and the relative impact of each alternative, you create the following Decision Tree and Payoff Matrix that show combinations of possible Yes/No decisions:


[image: image1]
Of the eight possible Yes/No decisions, you eliminate one, the NNN decision, because it is a certainty that at least one of the companies will decide to set up a cross-platform selling team.  

The most difficult task you had was assigning weights to the different Yes/No combinations and deciding on what kind of weight scale to use.  Because you knew that a YYY combination of decisions was likely, you knew you had to have a scale that could be divided by three evenly so that YYY would have equal values for each company (the YYY combination maintains the existing equilibrium in which no one company gains an advantage by setting up a cross-platform unit).  So, you decided to use a six-point scale, with 6 being the best outcome and 1 being the worst.  In assigning weights, you wanted the total value of each decision combination to be the same; therefore, the values in each of the nine boxes add up to 9.


[image: image2]

As previously stated, you left out the NNN combination as being impractical, because one of companies was certain to say yes.  Also, notice that boxes 1, 5, and 9 have the same YYY combination.  This repetition occurs because these boxes in a pure payoff matrix would be left blank because you can’t have a TWQ, VVY, or FOZ Yes and No in the same box.  If you had left those three boxes blank, there would have been room for only six decision combinations, leaving out both NNN and YYY.  So, you decided to modify the payoff matrix by putting the YYY combination in boxes 1, 5, and 9.  This arrangement works out fine when you add across rows to get Yes total values for all three companies (right side of the matrix) and if you do not count the YYY values when you add down columns to get No total values (bottom of the matrix).

ASSIGNMENT

Assume the strategists of all three companies have done a similar payoff matrix.  Study the Payoff Matrix very carefully, and see what strategies make sense for each company.  Take into consideration that the upfront market for network television starts around the middle of May each year.  In order to answer the questions below properly, you must have read “How to Develop a Winning Strategy in the Media” in the Publications section on www.charleswarner.us. 

1. What is TWQ’s best strategy?  State the problem the TWQ Senior VP in charge of strategy faces and recommend what his best strategies are.
2. What is VVY’s best strategy?  

3. What is FOZ’s best strategy? 

For the answers to the above three questions, download “Game Theory – Sales: Answers” in the Publications section of http://charleswarner.us.  Don’t look at the answers until you have come up with your own recommendations so you can see if you agree or disagree with those in the Answers paper. 

* This case was prepared by Charles Warner
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